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Cluster: 0148 ptr; resid: 0.35; r/c: 33/78

x.range

upstream meme PSSM #1; e=0.0047
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string −500 −400 −300 −200 −100 −1
14770−0.01
35296−0.06

2808−0.09
32813−0.10
48257−0.13
45504−0.16
18469−0.26
33005−0.31
41069−0.32
10024−0.34
45579−0.49
31684−0.50
35054−0.54

83−0.69
48575−0.69
47564−0.93

8154−1.46
48132−1.59
36109−1.88
48170−1.91
45216−2.02
11826−2.23
48599−2.26
46017−2.39
37648−2.40
46389−2.52
46136−2.54
48882−2.62
49462−2.63
11259−5.54
14699−6.25
43301−7.35
33590−8.64

log10(P) upstream meme1 2 log10(P.clust)=−1.88; 33 seqs; 33 uniq
c(0.5, 2.5)
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